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Using Intercepts
Reteach

Doug has $12 to spend on popcorn and peanuts. The peanuts are $4
and popcorn is $2. If he spends all his money, the equation 4x + 2y =12
shows the amount of peanuts, x, and popcorn, y, he can buy. Here is the
graph of 4x + 2y =12,

\
The graph crosses the 3' _
y-axis at (0, 6). |-
The y-intercept is 6. &6 |
§ 5 The graph crosses the
“g 4 x-axis at (3, 0).
® 3] { The x-intercept is 3.
8 2 H
1 (ST USRI A, DR SRR o R SR
T 28 456 7 8
Bags of Peanuts
To find the y-intercept, substitute x = 0. Solve fory. 4(0) + 2y =12
He can buy 6 boxes of popcorn (y) if he buys 0 peanuts. y=6
To find the x-intercept, substitute y = 0. Solve for x. 4x + 2(0) =12
He can buy 3 bags of peanuts (x) if he buys 0 popcorn. x=3

Find each x- and y-intercept.

Find each intercept. Use these two points to graph each line.
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Name Date Class
4, 3X+9y=9 5. 4X+6y=-12 6. 2X—-y=4
¥
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@ |nterpreting Rate of Change and Slope

Reteach

second point.

slope =—
run

Step 5: Divide to find the slope.
rise 6

Find the rate of change, or slope, for the graph of a straight line by finding

Step 1: First choose any two points on the line.
Step 2: Begin at one of the points.

Step 3: Count vertically until you are even with the

This is the rise. If you go down the rise will be
negative. If you go up the rise will be positive.

Step 4: Count over until you are at the second point.

This is the run. If you go left the run will be
negative. If you go right the run will be positive.

=-3

change iny
change in x

The slope of a horizontal line is zero. A haorizontal line has no steepness at all.

The slope of a vertical line is undefined. A vertical line is infinitely steep.

Find the slope of each line.
1. A

(0, 3)
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LESSON

=m Slope-Intercept Form

Reteach

An equation is in slope-intercept form if it is written as:

m is the slope.
b is the y-intercept.

y=mx+Db.

You can use the slope and y-intercept to graph a line.

Write 2x + 6y =12 in slope-intercept form. Step 3: Graph the line.

Then graph the line. « Plot (0, 2)
Step 1: Solve fory. e Then count 1 down (because the rise is
2X+ 6y =12 Subtract 2x from negative) and 3 right (because the run is
both sides. positive) and plot another point.
—2X —2X e Draw a line conne(;ting the points.
By =-2x+12
%y _ % Divide both sides by 6.

y =—%x+2 Simplify.

5 10
Step 2: Find the slope and y-intercept. e de- B O
1 2
slope: m = 1 = -1 in—a )| Count 3 rlght
3 3 i
y-intercept: b =2 -5}

Find each slope and y-intercept. Then graph each equation.

1.y:%x—3 2. 3x+y=2 3. 2x—y=3
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slope: slope: slope:
y-intercept: y-intercept: y-intercept:
ty 1y ty
4+ 44 4
21 27 2
+ | . t | t '.X X
—4 2 100 | 214 -4 2 9 2 g4 —4 2 (00 | 214
—21 -2+ —2
—4 —4 —4
.
@ Point-Slope Form

Reteach

You can write a linear equation in slope-intercept form if you are given the slope and a point
on the line, or if you are given any two points on the line.

Write an equation that describes each line in slope intercept form.

(10, 1) and (8, 5) are on the line

Step 1: Find the slope.

slope = 3, (4, 2) is on the line
Step 1: Write the equation in
point-slope form.

Yo-»_5-1 4

)(2—)(1_8—10_—_2:_2

y—2=3(x-4) m=

Step 2: Substitute the slope and
one point into the point-slope form.

Step 2: Write the equation in
slope-intercept form by solving

for x Then write in slope-intercept form.
y—-2=3(x-4) Y=y =mx-x)
y—2=3x-12 y-5=-2(x-8)
+2 +2 y-5=-2x+16
y=3x-10 +5 45
y=-2x+21

Write the equation that describes the line in slope-intercept form.

1
slope = Z; (8, 3) is on the line

1. slope =-3; (1, 2) is on the line 2.
3. slope =4; (2, 8) is on the line 4. (1, 2) and (3, 12) are on the line
5. (6, 2) and (-2, -2) are on the line 6. (4,1)and (1, 4) are on the line
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LESSON

=@ Standard Form

Reteach

The graph of a linear function is a straight line.

Ax + By + C =0 is the standard form for the equation of a linear function.
e A, B, and C are real numbers. A and B are not both zero.
e The variables x and y:

have exponents of 1.
are not multiplied together.
are not in denominators, exponents, or radical signs.

Examples  These are NOT linear functions:

2+4=6 novariable 6 =3  xin denominator
X
x2=9 exponenton x> 1 2Y=8 yinexponent
Xy =8 x and y multiplied together ﬁ =5  square root of y
Tell whether each function is linear or not.
1. 14 = 2Jx 2. 3xy =27 3. 14-28 4, 6x2=12

The graph of y = C is always a horizontal line. The graph of x=C is
always a vertical line.

Examples

NoWw e W
-~ M oW & W@

1 2 & 4 65 £E-4-3-2-10 1 3 4 5

Tell whether each equation represents a horizontal line, a vertical line, or neither.

5. 9y =27 6. 6x+ 7y =10 7. %x:19 8. x=0
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Transversals and Parallel Lines

a2l Reteach

r
p and g are parallel lines, and r is a transversal. 1 /

Y

/2 and Z4 are same side interior angles. p= % #3

/1 and Z4 are corresponding angles.

«3and Z4 are alternate interior angles. = 5
/1 and £5 are alternate exterior angles.

Y

a and b are parallel lines, and c is a transversal. A A
1. Name a pair of alternate interior angles.

2. Name a pair of same side interior angles. C
4
3. Name a pair of corresponding angles. : /

4. Name a pair of alternate exterior angles. ‘/

Alternate interior angles are congruent.
Corresponding angles are congruent.
Alternate exterior angles are congruent.

Same side interior angles are supplementary.

Use the figure above to answer the following questions.

5. f m£5=65° ms2= . 6. If m£6 =100° mL7 =

7. If m£4 =78° name two other angles that also measure 78°.

LESSON

=@ SAS Triangle Congruence

Reteach
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triangles are congruent.

In the figure RT = m,

If two sides and the included angle of one
triangle are congruent to two sides and
the included angle of another triangle, the

RS = m, and ZR = ZL;therefore,
L JRST =[L/LMN by SAS.

Using the figure, fill in the missing
information needed for LIRST =L ILMN by SAS.

1. x=

2.y=

Complete the proof about the figure.

Statements

Reasons

1. /1= /2; AB=BC

1. Given

2. =~

2. Reflexive Property
of Equality

3.LJABD =

wm SSS Triangle Congruence

12cm

90°

12cm

5cm

Reteach
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and BC ;Y_Z; therefore,
LlABC = | XYz by SSS.

If the three sides of one triangle are
congruent to three corresponding sides of
another triangle, the triangles are congruent.

In the figure, AB = XY, AC = XZ,

py
v v]

4cm

4cm

Find the missing values in the figure so
that LIPQR =ISTU by SSS.

1. RQ =

2. ST=

Complete the proof for the figure.

7cm

Statements

Reasons

1. @ ;'m;
US bisects RT

1. Given

2. Definition of bisect

3. Reflexive property
of equality

7cm

Interior and Exterior Angles

Reteach
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The sum of the interior angles of a triangle is 180°. For any convex
polygon with n sides, the sum of the interior angles is (n — 2)180°.

In the figure, there are five sides. So, the sum of the interior
angles is (5 — 2)(180°) = 3(180°) = 540°.

Therefore, to find x, solve the equation:
2x + 140 + 106 + 85 + 126 = 540

2x + 457 = 540
2x =83
x=415

1. The interior angles of a triangle have measures of 55°, 25°, and x°.
What is x?

2. What is the value of x in the figure?

The measure of an exterior angle of a triangle is equal to the sum of the
measures of the two remote interior angles.

In the figure,
62 + X = 145 n

o

X =83

Find the value of x in each of the figures below.

3. 4.
3x + 2°
152° 105°
-LESSON . .
=m Isosceles and Equilateral Triangles
Reteach
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An isosceles triangle has two congruent sides. The angles opposite the
congruent sides are also congruent. The remaining angle is called the
vertex angle.

In the figure, since AB =BC, m/A =52°.

To find x, solve 180 = x + 52 + 52,
180 =x + 104
76 =X

Use the figure to find the value of x.
1. 2.

B
XG
52°
A C
4x + 2° X
25°
8x°
B
/\M
A C

All three sides of an equilateral triangle are congruent and
the measure of each interior angle is 60°.

If AABC is an equilateral triangle, then x can be found by
solving the equation 2x = x + 4.
2x=Xx+4
x=4

Use the following figures to find the value of x.
3. 4.

3x—1

2x+4
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Answer key

ALGEBRA

LESSON 5-2 Reteach
1. x-int: 3; y-int: -3
2. x-int: =1; y-int: -2
3. x-int: =2; y-int: 4

LESSON 5-3 Reteach
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4. zero
5. undefined
6. zero
LESSON 6-1 Reteach

1

1. m==b=-3

Ei
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LESSON 6-2 Reteach
1
1.f =— 3
(x) 4x+

2. f(x)=-5x
3. f(x)=7x-2
1
4. f(X)==x+2
(x) >

5. f(x)=2x -2

LESSON 6-3 Reteach
1.no

no

no

no

. horizontal

. heither

. vertical

© N O UAWN

. vertical

GEOMETRY

Reteach 4-2

1. /2 and £7; «3 and /6

2. /2 and £3; £6 and /7

3. Z1 and £3; /2 and /4,
/5 and £7; £6 and /8

4. /5 and Z4; /1 and /8

5. 65°

6. 80°

7. Any two of /7, £2, /5
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Reteach 5-2
1. £/C = /F

2. AB = DE
3. /MKJ = /MKL; right

1

4. JK: LK
5. [ JIKM = |LKM: ASA

Reteach 5-3
1.5cm
2.90°
Statements Reasons
1. A= /2; 1. Given
AB = BC
2. DB =~ DB 2. Reflexive
Property of
Equality
3.LJaBD =L cBD | 3.SAS

Reteach 5-4
1.5cm
2.8cm
Statements Reasons
1. RU =TU; 1. Given
US bisects RT
2. RS=TS 2. Definition of
bisect
3. US ~US 3. Reflexive
Property of
Equality
4. IRSU =l JTsu | 4.sss
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Reteach 7-1
1.100

2.20

3.30

4.80

Reteach 7-2
1.32
2.15
3.5
4.9
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